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Av . A bM-—7HEIREEE
Av (lliEm) = 618 x 457 282,426 mm?
Av (F@E.&EM) = 348 X 457 = 159,036 mm?
Ah : R bM—T7XKFIZEHERE
Ah = (7yYa)y7’  TE=b - EEDH =R REITE) X (RKHEE)
Ah = 691 x 381 = 263271 mm’
Ls : A b—7F0 kKT 2EEE
Ls (Bl@m) = 159 X J Av({ElE)
Ls (IEm) = 24 X JVAVIE®E/Em|) =
Ls (@) = 159 x v AVOEE/SMH) =
Hs : R b —7E0[#%k5EEEERE
( 1000000 > _
Hs = 0.00106 1+ Ah =
Ah + 80000
Ds : A b—7&u[ KA E S IERE
Ds = H@&SHEIZSLY,

FEE . 15480kcal/s LT DA+—T

8,870 Kcal/h
10.3 Kw
2.47 Kcal/s

845 mm
957 mm
634 mm

1092 mm



